| > restart

> EcuacionLibre = diff (x(t), 1$2) + 16-x(¢t) =0;
2

EcuacionLibre = & x(t) +16x(t) =0 €))
] dr’
> Condiciones := x(0) = %, D(x)(0)=0
Condiciones =x(0) = %,D(x)(O) =0 2)
_> SolucionParticular = dsolve( { EcuacionLibre, Condiciones})
SolucionParticular == x(t) = % cos(4 1) 3)

> plot(rhs(SolucionParticular), t=0..20)
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[ > F,:=20sin(21)
I F,:=20sin(2 1) “@
> EcuacionTemblor := lhs(EcuacionLibre) = F,
2
EcuacionTemblor = % x(t) +16x(t) =20 sin(2 ¢) Q)
t




> CondicionesTemblor == x(0) =0, D(x) (0) =0;

i CondicionesTemblor :=x(0) =0, D(x) (0) =0 (6)
> SolucionTemblor = dsolve( { EcuacionTemblor, CondicionesTemblor})
SolucionTemblor .= x(t) = —% sin(4¢) + % sin(2 ¢) @)
_> plot(rhs(SolucionTemblor), t =0 ..20)
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[ > F.:=20sin(41)
F :=20sin(41) @®
_> EcuacionResonancia = lhs(EcuacionLibre) = F,
2
EcuacionResonancia .= % x(t) +16 x(t) =20 sin(4 1) )
t
_> SolucionResonancia = dsolve( { EcuacionResonancia, CondicionesTemblor})
SolucionResonancia := x(t) = % sin(4¢) — % cos(41)t 10)

> plot(rhs(SolucionResonancia), t=0..20)







